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PART-1:MENTAL ABILITY AND
LANGUAGE COMPREHENSION TEST
{(For Students of Class X)
Time : 90 Minutes Max. Marks : 100

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you

open the question booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part-1.

2. There are 100 questions in this test. All are-

compulsory.
3. This test consists of two sectiotis:
Mental Ability test for 50 marks.
Language Comprehension Test (anllsh) for
50 marks.
4. Choose the correct answer from the options given

for each question and darken the corresponding .

circle with black ball point pen in the OMR- Answer
Sheet.

5. Since the time allotted for this Quest:on Paper is

very limited you should make the best use of it by '

not spending too much time on any cne question.
6. If you'do not know the answer to any qirestion, do not
waste time on it and pass on to the next ene. If ime
permits, you can come back to the quéstions, which
you have left in the first ihstance and attempt them.

7. Rough work can be done anywhere ity the Question
Booklet but not on the OMR Sheet/{oose paper.’

8. Every correct answer will be awarded one mark. -

9. Please return the OMR Answer Sheet only to the

invigilator after completion of the fest. You can

retain the Quesfion Booklets.

10.Einglish version of the Question Paper will be
considered as final in case of any dispute arising
oul of variation in translated version.

11. Quote your seven digit Roll number without fail for
any future corréspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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MENTAL ABILITY TEST / wengdpen Caie]

Direction : {Question number 1 - 3)

Choose the next term of the series :

1. 15,17, 20, 25, 33, 46, 67, ...
(1) 91 (2) 101
@) 111 4) 81

2. 4, 5,16, 24, 64, 124, 256, .....
(1) 624 (2) 3124
(3) 1024 4) 626

3. 0,23,58, 10,15, 17, 24, 26, .....
1 34 (2) 35
(3) 27 @) 30

Direction : (Question number 4 and 5)

Choose the missing term of the series :
4. 1,25 14, 41, 122, ..., 1094
(1) 355 (2) 265
(3) 465 (4) 365

5. AK, LB, CM, ND, EG, ..... , GQ, RH

(1y FP (2) QF
(3) PF (4) FQ
6. During a sunshine day at 6 pm, two

friends A and B were talking to each other
face to face. If B's shadow was exactly to
A’s left side, then the direction of A facing

is :

(1) North  (2) South
(3) Bast  (4) West

aunfipsmm (afleorm erevwr. 1 - 3)
QarhssiulGerer  GQariflses  9@58
aurSeg 2 mflomers CortoshissHann.
1. 15,17, 20, 25, 33, 46, 67, .....

(1) 91 (2) 101

3) 111 4) 81

2. 4,5,16, 24, 64, 124, 256, .....
1) 624 @) 3124
(3) 1024 (4) 626

3. 0,23,58 10,15 17, 24, 26, ...
1y 34 (2) 35
3) 27 (4) 30

suflpsmp (efewrm eretor. 4 wHgID 5)

- Qarhssuul_Herer G]grruﬂﬁb,sﬁ]@uL@siTm

2 miifsmerg CaiihQSHISSnLD.

4. 1,2,5, 14, 41, 122, ..., 1094
1) 355 (2) 265
(3) 465 (4) 365

5. AK, LB, CM, ND, EQ, ..... , GQ, RH
(1) Fp (2) QF
(3) PF (4) FQ

6. (&l QeueflFan o_sier praflsy wremso 6.00
Loesal1Eh(g A Lopmith B eTsim @), metarLit et
aHErdrrs fary Gsraw® GCués
Qamerdmmiast. B-sir [Hieoreng A~
Qeug sfure @I lumers efilorsmrsy, A
CrTéEGL Slene :

(1) oLse ()
() fgse (@

CanG
GLoms;
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7.

10.

‘(3 12

In an examination a student scores 2
marks for every correct answer and loses
1 mark for every wrong answer. If he

" “attempts all 90 questions and secures 42

marks, then the number of questions he

“dttempted correctly is :

1 74 @) 64

(3) 54 (4) 44

The ﬁumber of benches in 'é\'class, if 4

“ N étudents sit on each bench in the class room
then 3 benches are left and if 3 students sit

on each bench 3 students left without

B bench, is :
(1) 16 (2) 15
(3) 44

(4) 48

If X means+; + means — ; — means X
and + means + then, 12~8+16+4X7
is: '

1y 9 (2 32

@ 18-

17+8[ ]3=2and 18[]5 + 4=19 then
4«5 |8+7[ ]lis:

Iy -1 (2) 3

(3) 1 4 -3

om Csiaflld  wremeust efwmar
sflem_uflemsrrs; CombosSsmh @reard
wdiQueasr  QumiSprer.  Gaummesr
ol uflmens GCoHirbsbhs&EaTed Qb
wHUGILSTT GIpSEMTaT. (T LOMEwTa6T
SemeTSgi 90 efleTT s Ems @i udlovafls gl
42 wHUGUmT ST Qubmpre, surs
allem_waflss sllsrmaaaflsr sratmenfldbanss :

(1) 74 2) 64
(3) 54 4) 44

26 agluumnlle e Guehdd
4 OTETTEUITE6T 6TETM EuEMASUIE) SYDTHE L
dar 3 GQueErssar gyflswrsaym, 3
WrsETeI &6 aigh  ooihSmuslear 3
LDTSUOT6UIT (6T 558 GIL LAlD6LMLOYILD 2 6iT6T )
sTef 160, REGULSHDUIIEL 2_siterr Glughargarflssr
6T 6007 600 |5 65 -

1) 16 () 15
3) 44 (4) 48
X GTSOTLIG - eTeTRJID ; -+ eTETLS —

STEOTEULD ; — 6TEUTLIGH! X STAUTAULD ; + GTeaTLI
+  aeteyd  dhS5ss  GamerLme
12-8+16+4 %7 —6b7 Wiy :

1 9 @ 32

@ 12 4 18 -

. 7*8[]3=2Lng')gth18D5*4=196r65ﬂ6b,

4«5 18«7 |1 —str oy :
1 -1 (2 3

3) 1 4) -3



11.

12.

Five boys A, B, C, D and E toqk partina
race. D finished before E but behind C. B
finished before A but behind E. The
student who came hst is :

1 B @ <

@ D @ oA

In the alphabet series A to Z, the letter
seventh to the left of 17t letter from the

- ) right end is :

13.°

14.

a x. . 2) D

3) B @ C

The number of 8's that are preceded by 1
and also followed by 7 in
7816018754818743187818 is :

1 3 2 4.

3 2 (4) 5

A and B are brothers ; C and D are sisters.
A’s son is D’s brother. The relationship of
BtoCis:

(1) Grand Father (2) Uncle

(3) Brother (4) Father

11.

12.

13.

14.

. (3) Brother . (4)'

[CODFI X - | I 117|

A,BCDEsrmmgsurr@@
SULILGESUSSN sakg Qansrdnraer.
bns&mﬁE—&@@f&rmgn&éQ&é&@ C-&&
Astrewrgsna QadeEmm. B aaruai A -6
@mmg;rr&, Qesrm E -8 ﬁ]sursurg,:ra,
Qedmmi sresflsy, u,r_r,glug,g,lw aasmL_eﬂquraa

UG HUIT ©
(1) B (2 C

(3) D 4 A

b

- A -OlmEg) Z susnguflsomeor a‘r@g;gjaaaasrﬂsu
URILSS @gaﬂeﬁ]@g,g] 17 -sugj TS

gjaa@ @L_uua)a,wnes cgqmm‘r_r,g; srgmsug]
“@.@Qﬂ

) - X @ Do

@ B 4 C

7816018754818743187818 sreimm evetiravsfled
1 -9 febrerflemeviimasayid 7 -5 GGM L&D

surras&u;m 8 -gerflsir 67 svoTeTilSEme: :

L il

®3 . L@ 4,

(3) 2 '(4) 5

A whmud B @)meumid sGargmissn ; Cummin
Dy ACwri sCarghlaer. A-ulkr wsem
D -ullsir e@amani sTaufled C -&(g B -ufler

2_MeLpEmD | . '

Uncle

Father

(1) Grand Father (2)
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15.

16.

17.

18.°

In a row of students if A is 12th from the

“either end of the row, then the number of

students in the row is :

(I) can't be determined  (2) 24

@) 25 , (4) 23

~In a certain' code DISTRIBUTION is

written as STTIBUDICNRI

7 then
COMBINATIONS is written as :

(1) MBIOATCONSIN

.(2) .MBOIATOCNSIN

(3) MBIOTACONSIN
(4) MBIOATCOSNIN

IfRis denotedby N; Dby T;
Iby U; Obyl;
EbyR;
Uby D; Nby Cand -

C by E, then the word ‘CONDITION’ be

written as : -

1) ECIUTOUIC

(
() EICTUOUIC .
(

3) EICUTOIUC
(4) ECIUTOUCI

If MACHINE is coded as 53 ; SHE is coded
as 32 and ZINC is coded as 52 then
CAMEL is coded as :

3) 34 4) 35

TbyO;: R

15. g

16.

17.

18.

" g Gt auflemsufleh A -6ir @D, @ L&

Wpeafledmhgin 12 ereflsd, gsheufmeullso
o TeTeuiaeistr eTevuTenoflS sma

(1) Miiseniss Qhusors  (2) 24
(3) - 25. , (4) 23

DISTRIBUTION 6T&Tm suitii &6 & emiu
STTIBUDIONRI 61651 @S .Lméd e
Simugsrses COMBINATIONS ererm
sum Sl @i -
(1)  MBIOATCONSIN
(2) : MBOIATOCNSIN
(3) MBIOTACONSIN

+(4), *MBIOATCOSNIN -

AN ‘
R stsamLig) N sTeameytd ; D 6ot T 6TaotenL: 1
sTebTLg) U eTewratd ; O erearuig) I etesrayn; E
6T6OTLIS; R eTaursyid ; T evetrugy) O sTsmrayd; U .
sTeTLg) D eremayid ; N eTeitug) C eTemrayld

" uihmith C eTairLgy) E sTewreyd @nildaiu L meb
-+ ‘CONDITION’ 61601 6umiiS6ma sTsusum)]

GMsaL Gsustoriin ?
(1) ECIUTOUIC
(2) .EICTUOUIC

 (3) EICUTOIUC

(4) ECIUTOUCI

MACHINE stsotug 53 eTersywd; SHE
sT6OTLIS 32 sTeuTelld ohmid ZINC sTeimLig;
52 sTemmeyld @Ms&sIu Lrer CAMEL
6TEITLIG sTeusLITM) @GMISSLUGEID ?

L 32 @ 33

(3) 34 (4) 35



19.

20,

21.

22,

A die is thrown four times and its defe1ent

posmons are recorded as follows

gtk

The number opposite to 4 is : fin
1 1 @ 6
3) 5 @ 3 .

The mirror image of 'BANKER'is {

(1) gAMdaA 2) “dANKEIS
3) §gvvdaa @)

The water image of 'JACKLE' is-:

(1) 1VDKTE ) Iﬁjﬁﬁa
3) 1vcKra (4 1VCKIE
_ =1
The water image of >—O—- is: ~
o o
o [P @ <
o A
@ | P @ 5<

BVUKdS]

19.

20,

21.

22.

(D lVDKFE (%_

A .

O
T @) O
O A
® | Pl ©® &5
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R(H LSHEDL HISIT(G (P52 (HLL Lol L Hsor
Si@etr ClausuGoumy Bamasar  SpsEGHI
LﬂL.@Gﬂ'GTI’G‘.IJrrg]J U@MULII_@GITGTI'Q]

Blaglaslag

@b 4 -6 TEITS D|EHLOHSISTET 6TeTOT : *
® 1 @ .6 .

.yt

(3) 5 @ 3

'BANKER' st6orm surmg,smg;uﬂm 6007 600T Ty
Hibuwo :

(1) gavAIS (2)- GANKIS
(3 avuaasg 4) BVUKAA
TACKLE' ﬂsurm mrnrg;smg,uﬂm & Hibuid
[ADXjH

(3) 1vCckria (4) 1VCKTIE

QerhssLul Hisrer I_Il_é')é]ﬁ'EIT B Dibead -

]
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23,

24,

25.

The number of rectangles formed in the =~ 23.

glven d1agram 18 :

© 18 @ 6 .

Gy 120 @) 16

The reflex angle between the hands of the ~ 24.
- clock-at 9.30.is : -

Ly 1200 1 (2)  255°
(3)  270° ) 240°
Direction Arrange the words in a 25.

meaningful sequence and then choose the

,most approprlate sequence.

. “Words : -

(A) Evaluation -
(B) Text Book
(C) Syllabus

(D) Learning

(E) Teaching

.. {F). Testing -

O © ®.6 0 6@
@ ® ©

- (B), (D), (F), (A)
(3) (). (), (D), (B), (F), (A)
4) (O (E), (B), (A), (F), (D)

&G QaMPSeILL BereT LSS s

- gueitem QFsuusmIGeTeT sTetoTsoulGHems; :

1) 18 2 6
@3) 12 @) 16

Q@ SLETTEHN 9.30 LaféE, B
SRaTT WL eEEHSGL @l Guusrer
SlsiTeusmerd CamemTin ; -

1 1200 (2) 255>
(3) 270° (4) 240°

GeEThH&sUULL aIRTSHMmSSMET O|FSHaE-
(psirer  Qgmreuflenaums ungquﬁ]lLLLﬂs&T_ _
&aind eFpysmt euflensmug Cain
CsH S0,

T SEMSSH6IT |

(A)  HSLe

(B) um_ &g

(C) umLsEhLib

(D) emnms

(E) epdisse
'(F) Gerdsse

(1) (©, (B). (E), (D), (), (A)
(2) (B (©), (B), (D), (F), (A)
(3) (B} (©) (D), (B), (F), (A)

(4 (©) (B) (B), (A) (F), (D)



26. Direction :
are followed by two conclusions numbered
(a) and (b). Choose the option which
logically follows :

Two statements (I) and (II)

Statements :
()  All pencils are pens
{II) All pens are Note Books

Conclusions :

{a) All note books are pencils

(b) Some note books are pencils
(1) only (a) follows
(2) only (b} follows
(3) both (a) and (b) follow
- (4) neither (a) nor (b) follow

Direction : (Question number 27 and -28}

Four words / numbers have been given. Out of
which three are alike in some manner and the
fourth one is different. Choose the different one.

27. (1) album (2) asylum
(3) castle (4) prison

28. (1) 23 (2) 122
3y 43 4 78

29. The missing letters which are given in a
. proper sequence in - aab - ba- ab - bis :

(1) bbab (2) abab
(3) aabb (4) Dbaba

[CODE[ X [ I

I17|
26. @er(h snpmisEnn (1 Lng)gum II) WwHmRD
S| GemsT TGS @L}ma@m {a w,mgym b)
&Gy Gar@Gssuularamar. Qasrh&ss
. eflnLssafled @) LD erLsmLIL
afNsoLemws CaibelshEaHnn. :

o (DI :
()  opmsorsg) Qusitdlsasmid GLTTE ST
() omarsg GuaTTéeEmd Grml G

LSS HHISET
 (PipeySer ; :
(a) |emeT S8y (Bg,rn._@u:_;g,g,aarma‘:@m
Gustitdlsissir

(b)  &lso Crm PUUSSSEIST QstTE 06

(1) (a) L Gub & | |

(2)  (b) o’ @ub &l ,

(3) (a) Lmmud (b) sfhumsrened
(@) (2) uomid (b) EflwTaTEnE g,i;siiml

aufliipeom (RSleor eTetor 27 oHpib 28)
Qar@ésiu’ L 4 surtdamsssr / sorsefls
3 2 miyser eGy wrdflumer @ s SamSiLmL-
WETEaLD Lom@mmedTmy) LTmLL L STHaiLh 2 sreme).
Tl L 2 milkflsnsr Gaiey Gainiat. |

27. (1) album (2) asylum
(3) castle 4) pri’son

28. (1) 23 (2) 122
(3) 43 (4) 78

29. - aab - ba - ab - b Ty 'Qgﬁ"hlﬂﬁb
AUl srer  TepSgISemer  Fhlwrs:
CaiEsbhsaTo CSTLINGTS Q0
Simuliflsnard Qumd sesfled elGOUL
(STTET 671G SIS SH6T : .

(I) bbab (2) abab
(3) aabb (4) Dbaba
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30.

Choose the Venn-diagram which best
illustrates the given group :

- boys, sports, persons, singers

(2)

) 4

OF
sle

Direction : (Question number 31 - 34)

Read the following information and answer the

(uestions 31 to 34 :

()

31.

Five friends A, B, C, D and E travelled to
five different cities P, Q, R, S and T by

_different modes of travel namely Bus,

Train, Flight, Car and Boat from L

The person who travelled to R did not
travel by boat.

C went to S by Car and B went to Q by
flight. '

D travelled by boat whereas E travelled
by Train.
I is not connected by Bus to R and P.’

Which of the following combination is true
for D ?

(1) P-boat

) R-Car

) T-flight

) - train

(2
3
(4

10

- 30.

- Syleur s,
UL &&sT eTettn  Qam@Sufemen aflerd

eilemarur & eSS,

G Gleustor euemTUL. &G CoMEEsms

(4)

sl

anfiypsmp (aflerr sranr 31 - 34)

&0y QerGissuuc@srter  efleuriisemer
SOUETIONS UlpS55 31 PpF6d 34 euemyuiisomenr
AeTTé&E55E afmLwafésau.

@

31.

A, B, C, D wpmih E g éu gis

meorursEnin 1 srerm @I &8 55 o
, P.v QI Rr
- BHIBISELSE Caumul L susmsuilaumser

S wpg T eaerp @bl

GLBbE), Gl iaustiny, afl.omed, wdligbel

LHOID UL G- pEUL QUTSHETRIS T pLOFILD

vwsmflSSmriser.

R ettty @SS Lwemfliusi L s
Qasvsuanilevemev.

C sretruieur b S erearm @l Sdlm@ o
B ererusui eflonssrgdle Q sterrm @IS
g uusfsHomissr.

D erearuent u_&lein E eretrusui GQgmLim
sustoTIp LSIEVILD LiLisoofiShlaarmenTrr. _

I sTebrm (@i S&le0lwBgE R ommid P gyl
1 & TTEI & (6Th & (&) Cuhal (Surra,@smrg;gj
suere) @lsbsmev.

D -8 QUIMIGE SPSSETamID sTES Glsmsver
aiflwireorgy. o y

(1) P-u@

(2) R -udphg

(3) T - eflwmeorin

{4). P-Qgmieusory



32. Who among the follo;«\fing travelled to R ?
1) A () B
3y D 4y E
33. The person travelling to R went by :
(1) Car (2) Boat
(3) Train (4) Bus
34. Which of the following combination of
place and mode is not correct ?
(I) T-Bus '
(2) S-Car
(3) R- Train
(4)

Q - Boat -

Direction : (Question number 35 t6 37)

First two words/numbers/sequence before the
symbol : : are related to each other in some way.
Choose the word / number / sequence given in
the
relationship to the third.

35. Man: Biography : : Nation: ?"
(1) History (2) Economics
(3) Geography (4) Civics
36. 8:65::13:7?
(I} 168 (2) 27
(3) 170 (4) 169
37. HD:— ::pL:?
. vgg oPLe?
L, 26 5 16
O @ 3.
q 12 gy
®) 16 @) 256

alternatives which bears the same

11

[CODE[ X [ 1 [17 |

' 32, Raem @Lsdne uumligsair: .
1 A 2 B )
@D @ E
33. R weirm @L&HDe LusAssar Qesm
SUMEHEDTLD
1) vuykbs ) we
L ) Qemiamme (4 Cumsis
34, Spsenemid Bvenreafls g sflursrs
Iyjsusv ?
(1) T- Gushg
2)  S-uwsyss
(3) R-Gsm_raustrg
(4)

Q-uLy

aflpson (ofNerr eredmr 35 - 37)

2 areor @O e MG PETETEHTS 2 6Tem @Y
UTTSMSEHST [ T et /| Qe issT G
GO L susmauiled  B)6msuors & ILL (6T 6T gy
3|68 aumsule 9OH8 ursepiu @
UTT &S EHeT | eTair e / GGTLTHer gemiow
sgeurs wrim ool ulamig CaikosE s

&H6LLD.
35. Man : Biography : ; Nation : ?
(1} History (2) Economics
(3) Geography (4) Civics
| | N
36. 8:65::13:7 '
(1) 168 (2) 27
(3) 170 (4) 169
37. HD: 1 ::PL:?
. oy PR
256 | 16
0 73 @ 3
12 144
G g @ e
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38. Choose a pair in which the words bear the 38. ‘Bird : Cage’ ﬁs&rm@@ EUMTTT HEMBEHETT (I -

/ character.

39,

40.

same relationship as in the given pair : @QSIL'IJLS]L'.L. aumsuils  Gamemsal
Bird : Cage::? o Ul Getegl. 9|68 suemasuile (@)enemordsLl
' D ul @eirer @ uriGemasmeard Cairk
- QzpésnD.

(1) antique : museum 7 (1) ahtique : museum

(2)  thief : prison : {(2)  thief : prison

(3)  crime: puniéhment | , (3) crime: _purﬁshment

{(4) animal: forest - _(fl)‘ animal : forest
‘Direction : (Question number 39 and 40) aufigpemp (@flerr srair 39 whpid 40)
The characters / numbers in the given matrices Spssrap Ggr@uils By saflursGaur
follow a certain trend, row-wise or column-wise. Hlemm euflureGour 2 1Lgg e (psmmuilsy sTetoraem/
Based on the trend, choose the missing. number SIS QL bGummeTeTear. afELA-L sTetor /

sTSHmens o GG desab.

39.

6 | 7 L7 1 6 |7
8 | ? 112 8 ?
o | 11| s 1w | n
218 | 200 | 251 | 218 | 200 | 251
s @ 9 - @ s @ 9
@) 7 @ 12 @ 7 @ 12
: » 40. " >
K | Vv i K | Vv
M L
1) 7 ) K NG R 2) K
@ T @ s | @ T @ s

12



Direction : (Question number 41} -

A figure is given, followed by four altefnative
figures in such a way that the given figure is
embedded in one of them. Choose the embedded

figure,

41.

=

:{S

M

® . &

Direction : (Question number 42 gr}ci 43)

Figures A and B are related in some manner. In
the same manner figures C and D are related.
Choose the figure D in the glven four

alternatives.

42, . —
Sl=Eel
@w  ® QO
NV IR
(1) (2) (3) (4)

13
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auflpenp (efleorm srevir 41)

0L QErESSIL. Gerer UL b, QeTRSSILLL
EresTE wrpm eflsni e @soriiisflsd Ll G

LHLILGD sl Ik TmS
CaitosH s, '
41.

(2) C/

aufigpemp (sfleorm evedor 42 whpitd 43)

A wpmid B uLmisd @@ aumsuile QLI
LUGSSUUL BisTaren. - gBsT gygliusmLufiss C
wipmb D -y Qgriiy u@dsuul QeTearer.
QaTHGSULLDsTer HTsT. LThm) afent gafls
@mma L D -ullsners CginhREE\SseD.

42,
=0
& ®  © o
AA|ENT]
v o e @
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43. . ‘ -
+ 0 ?
7 + v oN Y A .
(A) (B) © (D)
9] N |~ 4 A" 7
+ +/ + ¥ C
oy (3) &)

2

Direction : {Question number 44 to 47)

Find the figure from the answer figures
(1), (2), (3), (4) which would continue the series
of the four figures (A), (B), (C) and (D).

K |5,

44.

@ ®»  © o
n @ 6 o

3. o= =
: ?
> + p Q Fay
@ ®m O O
N A < fvi S V| ¥ +
n 06 @

- sufipenm (eflarm sTedr 44 - 47)

14

&6 Car@ssiuGstar (A), (B), (C), (D) srsorm
s UL musaflsr GsTLiFfiuns sumn 058
L. Slemerr Caiiey Glatlnuen.

KEEH S,

44.

@ ® © O
e 2 ® @



45,

46,

47.

SEaRaE:
| S| R

(A) (B} (C) (D}
(1). 1 (2} 3) (4)
~| V) >
(A) (B) (©) D)
74 ’LT W AN
(1) (2) (3) (4)
AliREIE
(A) (B) (C) (D)
_// S[ANE] S
O (2) 3) {4)

45.

46.

47.

i5
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Y

Gl

K

S|

(A) (1_3) (S D)
6y 2) 3) (4)
NP d
(A) (B) (©) (D}
. D .
7 N ~ ~
(1) (2} - 3) (4)
dRREIE

10 ] -
@  ® © O
Stz _ N
TS
1) (2) (3) (4)
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Direction : (Question number 48 to 50) auflpemp (efleor erevior 48 - 50)

<

QeTHSSIUL GaTer 4 L kissfi Gaugit Gerer
UL Sleneer GCarisy Gleilis.

Choose the figure which differs from the rest of
the figures.

16
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LANGUAGE COMPREHENSION TEST (ENGLISH) / Guomfls Gaiey (symidleoin)

Read the passage carefully and answer the

questlons glven below :

At2 pmonb December 1945, fwe US

bombers took off from Fort Lauderlale in the
USA for a training flight in perfect weather.
Shortly afterwards, the pilots radioed that their
flight instruments were all malfunctioning. Two
hours after take-off, all contact with the planes
was lost.
immediately dispatched to search for the missing
planes. Within 20 minutes, radio contact with it
~ had also been lost. No trace of any of the planes
was ever found. In all, six planes and 27 men
had vanished into the air. The disappearance of
the six planes was far from being the first
mysterious in_cident in the area : for years,
navigational problems and strange Vmagnetic
‘forces had been reported. The disappearance
was not even the greatest disaster within the

trnngle .The Cyclops, a 19,000-ton US ship was
saﬂmg from Barbados to Norfolk, Virginia. In

March 1918, when it vanished with its crew of
309 from the surface of the ocean without
making a distress call and without the slightest
wreckage ever being found. The losses of boats
and planes in that area defy explanation. The
disasters'_are the origin of a new phrese in the
English language - the Bermuda Triangle and
this phrase has entered legend. The Bermuda
Triangle has been called the Devils’ Triangle, the
Triangle of Death, the Graveyard of the Atlantic,

It has swallowed up 140 ships and planes and

more than 1,000 people. Today many airmen
and sailors are still afraid of that area of the

Atlantic Ocean.

A reconnaissance plane was

17

51.

52.

53.

54."

Why were the five bombers sent by the
USA Air force ?

(1)

{2)

(3)
(4)

for refuelling a war plane in the mid
air '

for dropping bombs on Japan

for training purposes

for reinforcing the forces in’

Af ghamstan

What was the first major disaster in the |

Bermuda Triangle ?

(1)
(2)

(3)
(4)

The disappearance of 6 US Planes
The disappearance of 37 men along

‘with the planes.

The disappearance of Cyclops
The sinking of Titanic -

Why do navigators and pilots avoid

Bermuda triangle even today ?

()
@

()

(4)

They are superstitious

The mysterious disappearance of
Planes and ships is solved

The mysterious disappearance of
Planes remains an enigma even
today .

It is a haunted area trusted only by

Sorcerers and Shamans

Why did Cyclops not make any distress

calls or send SOS signal for possible rescue -

operation ?

(1)

(2)

(3)

4)

They believed that they could
overcome the problem themselves
All had a divine call from heaven
The captain of the Ship wanted to
die due to some personal problems
The downward pull was so swift
and abrupt that they had no time
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55. What is a legend ? _ 57.

(1) Foible

(2) Parable

(3) Traditional but unauthenticated
story

(4) Feeble

Read the following Poem Carefully and
answer the Questions given below

Stop all the clocks, cut off the telephone
Prevent the dog from barking with a juicy borie,
. Silence the pianos and with muffled drum

Bring out the coffin, let the mourners come.

Let aeroplanes circle moaning overhead
Scribbling on the sky the message He ls Dead, .
Put crepe bows round the white necks of the
public doves, . | '.,;
Let the traffic pohcemen wear black cotton
gloves.

He was iny North, my South, my East and West,
My working week and my Sunday rest, b
My noon, my midnight, my tall<';. r;‘iy song;

I thought that love would last forever: I was

wrong. st

The stars are not wanted now: put ou‘t' every
one;
Pack up the moon and dismantle the sun;
Pour away the ocean and sweep up the wood:. i
For nothing now can ever come to any 'gOBd.
- W. H.'Auden ~

56. Why was the narrator sad ? -

(1) Her wealth was lost

(2) Her husband was sick

(3) Her husband has gone to the war

(4} Her husband was killed in the war

18

58.

59.

60. -

C . (4

What was the speaker’s notion ?

1) Love is temporal
(2) Love would end one day
(3) . Love is finite

(4) Love is eternal

‘How does the speaker react to the death

of the loved one ?

(1} Sheis étoical

(2) - She feels Qevastat'ed
(3) S_he. feels reassured
(4.). She is opﬁmisﬁc

When does one appreciate and enjoy the
beauty of celestial bodies ?

(1) When one is frustrated
(2) When oﬁe 1s dej('ected

(3} When one is happy

4 W_hen one is disappqiﬁted

What does the speaker convey in the last
stanza ?

(1) She wants, everyone to have a
p]easant hfe

(2)- » She wants all llfe sustammg:‘nature )
. -destroyed , ‘.

(3) She beliéves something good will
- come through the recuperative
powers of nature

{(4) She wants to redeem the world from

SOIIrow



Fill in the blanks with the most appropnater

option given below :

Sunil (61}

doctor’s clinic. Usually he _ (62)  good

health. But yesterday he got _ (63)  in rain,

while coming home from school. It appears

that he suffers from cold, coughanda - (64) = -
throat. Many people think that cold is a
(65)  disease. ‘
61. (1) sit (2) sitting -
(3) was sitting (4) sat
62. (1) keeps (2) kept
(3) keeping (4) will keep
63. (1) -drenchi.n'g
(2) drenched
(3) was drenched
{(4) will be dreriched
64. (1) soar (2) | sore
(3) shore (4) sour
65. (1) minor {2) small
(3) Ilittle (4) minute_ .

Arrange the parts and complete the sentences
The beginning of the sentences is already given.
Choose the order:from the options given':

66. Before the advent of printing press,

P., only through manuscripts
Q... knowledge was transmitted
R.  carried over to the next generation
S. , and mistakes were helplessly
(1) QPSR (2) PQSR
(3) RSQP QSRP

4

in the waiting hall of his

[CODE[ X TT J17]

67. Researchers say that :

P.  those who were concerned about

Q.  were happier than those

R.  the well-being of their fellow human
beings

5. who focused on their own

advancement '

(1) PSQR (2) QSPR

(3) RSPQ. (4) PRQS

Fill in the blanks with correct tense forms of
verb, choosing form the options given :

The boys.- (68)  the school for the Minister’s

visit. The Minister . (69) here tomorrow.

He (70)  the Independence Day
célebrations in the morning.
68. (1) decorate
“(2) T decorated
(3) will decorate
;. (4) . are decorating
69. (1) arrive  (2) . will arrive
(3) “arrived = (%) had arrived
70. (1) take
(2) took over
| 3) " will premde over
(4) takmg_‘ part

Find out the meaning of the underlined idiom
from the options given below :

71. ‘We have just a couple of months to

getourducksinarow  before  the |

launching of the project. *

(1) be well-organized

(2) wrap-up and conchude
(3) ‘be tensed up

(4) arrange and allot seats

19
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72. Indian soldiers fought tooth and nail to
eliminate the terrorists in a long-drawn
gun battle.

(1) tried fiercely
(2) screamed hysterically
(3) paid heavily
(4) cried bitterly

73. My boss changed the horses midstream .
(1) retained the plan
(2) altered the plan
(3) polished the boots
(4) dropped the plan

74. The captain is passing the buck to the
vice-captain for the defeat in the final
match. )

{1) delegating the duty

(2) issuing the cheque

(3) shifting the blame

4) givir{g the credit

As the funds were not granted on time,

75.

the project leader ran out of steam .
(1)
(2)
(3)
(4)

tendered resignation
exploded in anger
became worried

lost enthusiasm

20

82.

Fill in the blanks with the most appropriate

word choosing from the options given below : -
Fizzy drinks _ (76)
.77

dangerous for health. It

is now that these drinks (78)

pesticides more thanthe _ (79)  level. Now,

nexttime whenyou - (80) fizzy drinks think

that you are buying poison. X
@ s v

76. (1) am
T3y are’ (4) were
77: (1):. is proving - (2) proves
(3) prove ' (4) . proved
78. (1) containing (2)- contains
" (3) " contain (4) " contained
79. (1)- - requiring (2) ...requires
(3) required (4) require
80. (1) isbuying (2) are buying
(3) buy (4) bought
Substitute phrasal verbs.: -
81. India and Pakistan agree to abide by the
agreement. . L e
(1) honour (2) alternate
(3) cancel (4) lresun}e

The convict beggéd for mercy.

(1) expired (2) called

(3). entreated © (4) shouted
83. The enzyme acts upon certain p:r‘dteinsf

{1) influences '(2) ‘disflracts

(3) Thelps (4) destroys



84.

85.

86.

87.

88.

"Mohan called on me the day before

e
- G)

”

‘ yes terday
(1) greeted (2) visited
(3) summoned 4) welcomed

Soon, he gotover his timidity.

M) @
) 4)

overcame exrled

reduced proclalmed

Identify the app-ropr‘iate' question tag !

The girl dances well.
Isn’t she ?

- Does _she ?

2
@)

Didn’t she ?

Doesn’t she ?

“Find the correct passive form :

Lock the door

(1) The- door was locked -
{(2) The door will be locked
(3) The door has been locked
Let the door be locked = -+ =

@)

(4)

+ 1

Find the correct reported form :*

The teacher said, “The Earth moves round
the Sun”. '

(1)

The teacher sald that the E’lrth
moved round the’ Sun :

The teacher to]d that the Earth
moves round the Sun.
The teacher told that the Earth had
moved round the Sun.

The teacher told that the Earth
would move round the Sun.

)

(3)

21

89.

90.

3)
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Identify the complex sentence :
1)
)
(3)  Without hinting, he wanted money.

(4)

He hinted and he wanted money.
Being hinted he wanted money.

He hinted that he wanted money.

Identify the correct sentence.
(1) The old man divided his property in
between his sons

{2) The old man divided his property to
' his sons

The old man divided his property
among his sons

(4) Theold man divided his property for

his son

Identify the most appropriate SYNONYM of
the underlined word from the options given

below

91.

bam o o

92,

The spomo;s plan to host the match where
they find it lucrative .
(1) profitable

(3} comfortable

ks

desirable

@
(4) acceptable
The company conceived a new strategy-
to increase thelr profit margm

1) (2) thought of
(3) (4) rejected

adopted
developed

L FL

-Identi,fy the most appropriate ANTONYM for
the underlined word from the options given

below :

93.

| resisted my temptation to eat ice-cream,
as 1 had an audio recording the next day.
(1) ! (2) yielded

{3) {4) controlled

stimulated
extended
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94. An ideal home-maker is expected to be

very economical .
1)
3)

extravagant industrious

(2)

hospitable - (4) lethargic

Spot the errors : N
95. (Not only the judges acquitted)
1
{(him for all the charges)
, (2)
(levelled against him but also,)
)

(commended all his actions)

4)

(Due to certain inevitable circ‘umstances)
(1)
(the scheduled programme had to be)
(2)
{postponed indefinite,)
(3)

(but the members could not be informed)

4)

96.

(We admired the way)

(1)
(he had completed all his work)

(2)
(and appreciating the method)
@)
(adopted by him)
(4)

97.

22

98, (By April next year)
(1)
(I will had been}
(2)
{working in this office)
(3)
(for twenty years)

)

Choose the best meaning for the given proverb
from the options given below :

99. A drowning man will clutch at a straw.,

(1)

Nothing can save a man sinking in
deep debt.

(2) A man in great trouble will try to
trouble others.

(3) A personina desperate situation will
do anything to overcome it.

{(4) Floating objects could do nothing to

save one submerged in water.

100. Beware of Greeks bearing gifts.

(1) Be careful with your friends.
(2) Don’t trust your enemies.
(3) Keep a distance with strangers.
(4) Don’t cultivate a rapport with
relatives.
~00o0-
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